(2]

& P
i R 2 i 3 YA 4 fir
Bk E — - - — -
K&/ ThE & & | K&/ @ & | R4/ & & | KA/ TE &8 &
100m | 7 +E By 13.39 | tB X& 1347 |y & 13.70 | W& BT 18.75
g —04| (kL. 1) (fam- 1) (% B-1) (BHFE- 1)
24 100m |BiE EE 12.61 | kil s 12.77 | ki %A 12.96 | REHE 13.14
Boco+12| LB - 2) (&3H - 2) % B-2) (RKEM - 2)
34 100m | iE 7% 1243 |EH T 12.68 | FEEX < 5 12.81 | EHE HRL 12.89
B +16| (R - 3) (K& - 3) G5 #-3) (F %F-3)
k 200m | if  # 26.17 | B TR 26.67 | kG BE 26.86 | Gl W% 27.15
B —0.6] (B e 3) (R&EmM - 3) = - 2) B - 3)
5 soom | B E 22071 BBk R 22283 |cEE EE 2:2312|#F BT 2:24.82
CRIR= -« 3) (g W7 - 3) (B - 3) (B - 2)
1500m +THEHRE 44419 | E#R B 44799 | EE TR 4:4896| 1Bk FH 44941
b ' CKIRE - 2) CER= - 3) F B-3) (FAEPE - 3)
100mH |ZgH %% 15.02 | #2iE  F3k 15.36 | ERJIET 15.38 | EE% W& 15.40
Z1 @ +14|0LUEA - 3) B - 3) (BERA— - 3) G WT - 3)
Ko 4 = 52.55 | &HH 52.80 |4 H 5344 | B 53.82
4 x100mg | <8 W BEERT | e BT B XE|EW 8 kB SA | BT RROE
EERIE-. SE B | EEsR KL B | BE - MEERT |68 B-45% BE
K 51.33 |18 # 51.75 | B 7 51.88 | f& 52.02
AX100mR |B BT TEHEK | EAHTE -FMHI< S | A EE ke BE|EERE ML HE BT
B O BN | ATRET- BRORE | FHbAD L KE|HIL TE-EERE ER
£ ok TEREEAR 1m51 | AR 1mbl | #EL BE 1mb51 | /NI 2wt 1m48
7 = (F % - 3) (EFHdL - 3) (npE— - 3) (Lm - 3)
;I’
N R A 4m97 | Akt BEZE 4m94 | KEEE 4m87 | fHl (B 4m86
W s G dt - 3) +1.2mfs| (LB— - 2) +0.6m/s| GKIR— + 3) +1.2m/s| U [ - 3) +1.2m/s
gl b & |BE 95 11m96 | fEEE ER! 11mb56 | B EHEE 10m83 | {FE EH 10m58
(2.721kg) |G Bl 2) (G BT - 3) % EB-3) UNEHEER + 3)
R mm B 2393 |z A 2246 | 5% ¥E 2215 | &M ik 2066
. % EH-3) B ¥-3) E B-2) EHAL - 3)
100mH 16.60 16.95 16.24 16.96
o E B B 1 m49 1 m43 1m35 1 m30
O 9mb7 9m29 9mb5 9m39
200m 27.88 28.17 28.79 28.84

RyATA
i 53
5 AL 6 fir 7 A 8 fir
K& iR R & | B4R B & | R4PE R 7| R&FIE R B
INBEBRER 13.79 | By & F 13.97 | BE &8t 13.99 | 3G 2= 14.19
(gt 1) Ggr A= 1) Gk B L) CkiRt - 1)
H 3 13.14 | FIH EFE 13.30 | hnig 5 13.38 | FRHREA R 13.53
( ET - 2) (B - 2) (BHAL - 2) (w_= - 2)
B ESE 12.93 | 5Ht % 13.08 | /NRTEiE 13.04 | il HE 13.06
(% 7 - 3) g - 3) (H # - 3) Uh H-3)
ik =A 27.39 | NRTRE 27.48 | REWER 28.27
(% BH-2) |2 #H-2) CREM - 2)
GRE FOE 2:25.91 [ EHE  2:27.07 L TR 22747 ik fEEE 2:30.47
G £+ 3) % - 2) (BET— - 2) (Fem— -« 2)
i EE  501.12|EMm B 50170 | BH ¥ 5:01.76 | A ABfE  5:01.95
(& - 2) (BBR - 3) CkiRt - 3) G\ W 3)
HE T il 15.82 | £ 42 RN D 15.87 |t R 15.87 |’k T& 16.43
= o 3) (Lt 2) (klgg - 3) (m - 2)
HIR— 53.84|1F {& 54.28|% H 5433 |7 & 54.57

R mEEE R

NEFEFRR - BE RE

AtiEgt- i FE

KR ORE-BE ORM

W wiee D EE|EA OB EEVAE|HA R IDERR i B bR
N 52.40 | B B 52.49 | iR~ 52.86 | JEH= 53.16
W WA-GE WG| S BREONETRE|EHEONR- NE XA S 2R ﬁﬁz
TEADZ A % | NEF RE-ZEEEOKE | EL MBI R SRE BT BRHTE
nE BE 1m45 | &R’ HE 1m40 | IR 24 1m40 | & ERIT 1m40
(i - 3) B m - 3) gnE—- 3) (6fD) | & L-3)
R RKmE 4m80 | EH HEY 4m67 | % figs Am62 | AT HEE 4m58
(4 HE-3) Omfs|CRR="-3)+10m/s| & B - 3) —0.lm/s| (% & - 3) —0.2m/
=LA 1oml7|®E —#%  10m0l |fHH HE 9m93 | B FE-Li 9m74
(& H-3) B - 3) GEHR— - 3) e 2)
A MH 1 2017 | R BT 1995 | BiE  FEsk 1929 | FiE  HEK 1902
CEIRDM - 3) G - 2) (EE— - 3) (& B-2)
17.21 16.94 20.19 17.50
1 m43 1 m35 1 m43 1 m35
7 m85 7m74 9ml9 7m79
29.60 29.07 28.13 29.54




(23

I

& F)
1 i 2 i 3 i 1
BERB C o oR & B | R4 TR £ B | KA TR B B | KA TR B &
100m | % FIEE 12.49 | #1 K= 12.50 | 55 ®EA 1257 | #RJE FnE 12.66
B —04 ) Ollf—- 1) (IE— - 1) B % 1) GE £ 1)
24 100m |BiE K8 1172 | % 551173 WA ET 1186 |AE Kk 1190
m: 00| B-2) WA - 2) G WT- 2) CKIRZ - 2)
34 100m | #|L BA 11.38 | E®JIFRM 1141 | & b 1141 | FiE %R 11.47
B:+02| & E-3) (BT - 3) (GEF-3) @Rl | (B M- 3)
200m | EAF  f4ih 23.62 | EO IRt 23.69 | AFiE HHEE 23.69 | EES K 23.95
B —0.2| CER= - 3) (LBE - 3) (W B~ 3) EHD) | (R 2-3)
A SR 53.00 |84 75 53.63| AN MRt 5381 | RETHEE 5421
3 400m | pm— 3) (EEZ - 3) K - 2) CRIR= - 3)
FiF BB 15873 | EE EE 2:03.38| &% &t 2:0369| 4 FFE  2:03.99
5 800m (& m. 3) k2w | RE—- 3) G+ - 3) W W 3)
FHFE OBOE 43722 EH ¥ 4:37.25|#L MK 4:39.16 | &EE B 4:40.52
LA LS00m | m— . 1) (AR - 1) CER= - 1) (F#&m - 1)
) i
+H £ 4:11.20 | vEIZ =& 4:11.23 | & * 4:1461 | 12 %R 4:15.78
2o 3F L80m | o g E - 3) CRIRG - 3) (L= - 3)
|
71 TE B 90451 | B % 91150 | LB B 9:1266|&@ EE  0:13.58
3000m ' &L 3) GKRE - 3) (= - 3) (£ #-3)
110Mh (0.914m) | 388 R 15.63 | #8% st 15.85 | BBpE  EBEv 16.12 | /\$# B 16.28
B 406 CKRE - 3) 4 B-3) & H-3) G - 3)
. w34 4787 \HF B 47 98 | LLFE~ 48.42 | KIRH 48.75
g % &

miE E-2H Ef

o FER- g 52

B eI R

SRl B AHEER

i} 53
5 i 6 fir 7 LivA 8 fir

R&/FiE it & | K& /AR &2 & | B& g & & | R4/FE = &
AN 12.66 | il 12.82| 2@ =t 12.82| 4% K 13.18
(B Nl- 1) (BEsh) | &= - 1) i - 1) EEdy)| GEAE=- 1)

EH == 12.03 | E&)I| 55t 1213 | mHEEE 1213 |8k BK 12.23
(p=- 2) b - 2) CKiRA - 2) EEHD) | LB+ - 2)

EBH BEA 11.65 | s Wz 11.69 |JEER Kk 11.73 | g = 11.77
GR B-3) CGRIE— - 3) (B £-3) (EA=- 3)

T2 78 2425 | £ Egth 24.29 | B K 24.41

(H&Em - 3) CRE="- 3) OF #- 3)

alli wie 5457 | B i 55.04 | #ik &= 56.28 | W& R 57.13
#FE - 3) (HE— - 3) CGEfR— - 3) (#BE= - 3)

B Bz 20421 | T B 2:04.82 | it Y 2:04.84 | EE B4 2:09.32
(gt - 3) Gk B-3) CEIRmM - 3) (X T+ 3)
ABREE 44053 | (P RE 44273 |5 4 44339 | @EE T 44368
& #-1) (HETE - 1) G B- 1) CkiRt - 1)

A OFORR 41728 | (FEE EE 41925 |8 BT 4:10.25 | i SR 4:27.02
(LI~ - 3) T ) - 3) Gt # - 3) FEEHY)| CkiRm - 3)

FEE K 91494 | Ml |k 9:21.66 R EE  9:28.01 | /NEBZFre 9:30.15
CRIRIE - 2) % &-2) UF #- 3) B’ & 3)

At 16.39 | £ ®BA 16.60 | #ilE HA 1724 | &Z%T 15 17.58
CKIRM - 3) (EEm - 3) (EHE=- 3) (gt - 3)

L% — 48.77 |k = 49.35 | {ER= 49.40 | E=JI] 49.42

R AR-BI K%
BE #-EE ®

HE RV % WA
RIRTMT- HE #E

EE R BEA
el EE- 58 AR

ik mE-BER MR

RE= 46.26
g K- &M KA
ek Wk Bt

&/ H 46.39
BE - SE KE
Rk BT BIE SAh

% 46.41
il R K
Tt FH M

HIEW 46.66
NSV O VR
M H1B OxK

400m

AXL00MR | b e, Eoniilsie |1 IR S0k R EE FIE-BH 5| BW mE-EE BA
HIE— 45,16 | KIR— 45,50 | {HEHE= 45,54 | {EHIY 356j4_
4X100mR | FEPEAN- R B | TG RW | EE  BBR EA|EE A THEERK
R A LE B | WE RS N S8R B % BE Sk RHEEA
B Bl BA  1m80| &S 1m70| &TF 3 lm65|%E %= 1m65
£ & B mm= . 3) (il - 3) Uh - 3) Wi 3)
T e e w [HEOEE 420 |MORKES  3md0|#iE JEK  3mlO0| S $UE  3mo00
BB B e ) GE - 3) GE - 3) (B - 3)
] _ il #®mA 6m26 | &1 ® 5mol | i KA 5m80 | £ 5m75
)}E BB s 1 U3) 1smis| CKIR— - 3) Limfs| GUEE - 3)  Omis| GRE=- 3) 1.2mis
fa L #% | EA) B 16m32 | &5 7] 14m04 | PHi 17 13m33 |10 ki 12m90
4.000kg) | OlF—- 3) (BEHE) | kEH— - 3) @ F-3) G 0. 3)
TR BB g Rt 2208 | i sk 2138 | HHE & 2130 | HE 1977
; % B-3) GRIRZ - 3) CRIRM - 3) (R&= - 3)
& 110mH 16.52 (—0.6) 17.55 (0.0) 16.98 (—0.7) 17.27 (—=0.7)
oA B 10m90 10m41 10m82 8mbl
L 1m45 1 m63 1 m66 1 m63
53.96 55.68 58.73 57.82

Uy st 1mé65 | =H &t 1m65 | = 23} Im60 [ 44 75 BERHE 1m60
(BJER - 3) W - 3) KeaHE—- 3) (RE - 3RE=- 3)
Bl BB 2mo0 | FAR A 2m70 | &4 2 2mé60 | 53 By 2me60
Garo 4t 3) R Z-.3) CEfE— - 2) CKiR - 3)
g R Sm74 | B Bw 5mé6l | FUE  &i omb9 | BRI EEE 5m47
GEE=-3) 08m/s| CKIR=-3) ldm/s|(E E-3) 07m/s| (L L. 2) 0.2m/s
B BT 12md5 |k BT 1Im97|SHR T 11m72 | ER)IBA  11m67
(/- 3) G - 3) (R - 3) gnm=—- 3)
£ At 1968 | B B 1954 | 58 = 1951 | ZfE =) 1928
(BE=)lIl - 3) & E-2) (HE=-3) (CKAEm—- 3)
16.95 (—0.8) 17.13 (0.0) 17.56 (0.0) 19.27 (—=0.8)
7 m98 9m42 9ml0 10m50
1 m60 1 m50 1 m63 1 m66
57.28 57.47 58.54 57.80




	page1
	page2

